

Roger C. Grimson

Some formulas that enumerate certain partitions and graphs

Časopis pro pěstování matematiky, Vol. 101 (1976), No. 4, 321--326

Persistent URL: <http://dml.cz/dmlcz/117922>

Terms of use:

© Institute of Mathematics AS CR, 1976

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

ČASOPIS PRO PĚSTOVÁNÍ MATEMATIKY

Vydává Matematický ústav ČSAV, Praha

SVAZEK 101 * PRAHA 24. 11. 1976 * ČÍSLO 4

SOME FORMULAS THAT ENUMERATE CERTAIN PARTITIONS AND GRAPHS

ROGER C. GRIMSON, Chapel Hill

(Received May 16, 1975)

Let $p(2n + 1, k)$ denote the number of partitions of $2n + 1$ into k parts, each part not exceeding n . Letting $[x]$ be the greatest integer $\leq x$, MICHAL BUČKO [1] showed that

$$p(2n + 1, 3) = \sum_{k=0}^{[(n-1)/3]} \left[\frac{n + 1 - 3k}{2} \right],$$

$$p(2n + 1, 4) = \sum_{\substack{i \geq 0 \\ 0 \leq 3i + j \leq n-2}} \sum_{j \geq 0} \left[\frac{n - 3i - j}{2} \right],$$

$$\frac{1}{6} \binom{n+2}{2} \leq p(2n + 1, 3) \leq \frac{1}{6} \binom{n+3}{2},$$

$$\frac{1}{6} \left\{ \binom{n+2}{3} - 1 \right\} \leq p(2n + 1, 4) \leq \frac{1}{6} \left\{ \binom{n+3}{3} - 4 \right\}.$$

Bučko also showed how this function, p , is useful in counting cycles in certain graphs; this is described in the second section of [1].

The purpose of this paper is to exhibit further properties of p ; in particular, we evaluate the two above sums and some more general similar sums.

Let b and m be positive integers such that $b < m$ and let q be defined so that qb is as large as possible and yet $qb - 1 \leq m$. Then $\sum_{k=0}^m f(k) = \sum_{k=0}^{qb-1} f(k) + s$ where $s = f(qb) + f(qb + 1) + \dots + f(m)$ if $qb - 1 < m$ and $s = 0$ if $qb - 1 = m$. Thus, s is a "residual" sum containing only a few terms. Also, we observe that $\sum_{k=0}^{qb-1} f(k) = \sum_{j=0}^{q-1} \sum_{k=0}^{b-1} f(k + jb)$. Hence, if x is a positive real number, if a is a positive integer and if $f(k) = [(x + ak)/b]$ then

$$(1) \quad \sum_{k=0}^m \left[\frac{x + ak}{b} \right] = \sum_{j=0}^{q-1} \sum_{k=0}^{b-1} \left[\frac{x + ajb + ak}{b} \right] + s.$$

But it is known [2] that if $(a, b) = 1$, then $\sum_{k=0}^{b-1} [(x + ak)/b] = \frac{1}{2}(a-1)(b-1) + [x]$. Substituting for the inner sum of the right side of (1) and simplifying, (1) becomes

$$(2) \quad \sum_{k=0}^m \left[\frac{x + ak}{b} \right] = \frac{1}{2}(abq^2 - (a+b-1)q) + q[x] + s, \quad (a, b) = 1.$$

Note that $p(2n+1, 3)$ may be given by

$$(3) \quad p(2n+1, 3) = \sum_{k=0}^{[(n-1)/3]} \left[\frac{n+1-3[(n-1)/3]+3k}{2} \right].$$

Since $n+1-3[(n-1)/3] \geq 0$, we may apply (2). In this case, we want to select an integer q which makes $2q-1$ as large as possible, constrained by $2q-1 \leq [(n-1)/3]$. That is, we want the largest value of q for which $q \leq \frac{1}{2}[(n-1)/3] + \frac{1}{2} = \frac{1}{2}[(n+2)/3]$. Hence,

$$(4) \quad q = \left[\frac{1}{2} \left[\frac{n+2}{3} \right] \right].$$

Now, according to the definition of the residual sum s , we have in our case the following two possibilities: $s = f(2q) + \dots + f([(n-1)/3])$ if $2q-1 < [(n-1)/3]$; $s = 0$ if $2q-1 = [(n-1)/3]$. Note that q can be selected so that s contains no terms or only one term, depending on whether $[(n-1)/3]$ is odd or even, respectively. $[(n-1)/3]$ is odd if and only if $n \equiv 0$ or -1 or $-2 \pmod{6}$. If $[(n-1)/3]$ is even, then s is simply the last term in the sum (3). Therefore,

$$(5) \quad s = \begin{cases} 0 & \text{if } n \equiv 0 \text{ or } -1 \text{ or } -2 \pmod{6} \\ f\left(\left[\frac{n-1}{3}\right]\right) = \left[\frac{n+1}{2}\right] & \text{otherwise.} \end{cases}$$

Applying (2) to (3), using (4) and (5), and simplifying, we have the formula

$$p(2n+1, 3) = 3 \left[\frac{1}{2} \left[\frac{n+2}{3} \right] \right]^2 + \left[\frac{1}{2} \left[\frac{n+2}{3} \right] \right] \left(n-1-3 \left[\frac{n-1}{3} \right] \right) + \begin{cases} 0 & \text{if } n \equiv 0, -1 \text{ or } -2 \pmod{6} \\ \left[\frac{n+1}{2} \right] & \text{otherwise.} \end{cases}$$

Next we find some formulas for $p(2n+1, 4)$.

In general,

$$\sum_{\substack{0 \leq a_1 i_1 + \dots + a_t i_t \leq m \\ i_1 \geq 0, \dots, i_t \geq 0}} \left[\frac{n - a_1 i_1 - \dots - a_t i_t}{b} \right] = \sum_{k=0}^m \sum_{a_1 i_1 + \dots + a_t i_t = k} \left[\frac{n-k}{b} \right] =$$

$$= \sum_{k=0}^m \left[\frac{n-k}{b} \right] D(k; a_1, \dots, a_t),$$

where $D(k; a_1, \dots, a_t)$ is a denumerant, i.e., the number of partitions of k into the parts a_1, \dots, a_t . As a special case we have

$$(6) \quad \sum_{\substack{0 \leq ai+j \leq n-c \\ i, j \geq 0}} \left[\frac{n-ai-j}{b} \right] = \sum_{k=0}^{n-c} \left[\frac{n-k}{b} \right] \sum_{i=0}^{\lfloor k/a \rfloor} 1 = \sum_{k=0}^{n-c} \left[\frac{n-k}{b} \right] \left(\left[\frac{k}{a} \right] + 1 \right) = \\ = \sum_{k=0}^{n-c} \left[\frac{n-k}{b} \right] \left[\frac{k}{a} \right] + \sum_{k=0}^{n-c} \left[\frac{n-k}{b} \right] = \sum_{k=0}^{n-c} \left[\frac{n-k}{b} \right] \left[\frac{k}{a} \right] + \sum_{k=0}^n \left[\frac{k}{b} \right] - \sum_{k=0}^{c-1} \left[\frac{k}{b} \right].$$

It can be shown (see [3], for example) that

$$(7) \quad \sum_{k=0}^n \left[\frac{k}{b} \right] = \frac{b}{2} \left[\frac{n}{b} \right] \left[\frac{n+b}{b} \right] - \left(b \left[\frac{n}{b} \right] + b - n - 1 \right) \left[\frac{n}{b} \right].$$

Now we study the sum

$$T = \sum_{k=0}^n \left[\frac{n-k}{b} \right] \left[\frac{k}{a} \right].$$

LIPSCHITZ [4] gave the useful definition

$$(8) \quad \Phi(x) = \begin{cases} 1; & x \geq 1 \\ 0; & 0 \leq x < 1, \end{cases}$$

which allows for the following representation of the greatest integer function:

$$\left[\frac{k}{a} \right] = \sum_{i=1}^{\infty} \Phi \left(\frac{k}{ia} \right).$$

Then

$$T = \sum_{k=1}^n \sum_{i=1}^{\infty} \Phi \left(\frac{k}{ia} \right) \sum_{j=1}^{\infty} \Phi \left(\frac{n-k}{jb} \right).$$

Now, $\Phi(k/ia) = 1$ whenever $k/ia \geq 1$, i.e., when $i \leq \lfloor k/a \rfloor$. Since $k \leq n$, an upper bound for i is $\lfloor n/a \rfloor$. Similarly, $\Phi((n-k)/jb) = 1$ when $j \leq \lfloor (n-k)/b \rfloor$ so that an upper bound for j is $\lfloor (n-1)/b \rfloor$. Therefore,

$$T = \sum_{k=1}^n \sum_{i=1}^{\lfloor n/a \rfloor} \sum_{j=1}^{\lfloor (n-1)/b \rfloor} \Phi \left(\frac{k}{ia} \right) \Phi \left(\frac{n-k}{jb} \right) = \sum_{i=1}^{\lfloor n/a \rfloor} \sum_{j=1}^{\lfloor (n-1)/b \rfloor} \sum_{k=1}^n \Phi \left(\frac{k}{ia} \right) \Phi \left(\frac{n-k}{jb} \right).$$

But $k/ia \geq 1$ if $k \geq ia$; also $(n-k)/jb \geq 1$ if $k \leq n - jb$. Using (8) we find that

$$(9) \quad T = \sum_{i=1}^{\lfloor n/a \rfloor} \sum_{j=1}^{\lfloor (n-1)/b \rfloor} \sum_{ia \leq k \leq n-jb} 1.$$

The inner sum exists if and only if $ia \leq n - jb$, i.e., if and only if

$$j \leq [(n - ia)/b] \quad (\text{Case 1})$$

or, the same thing,

$$i \leq [(n - jb)/a] \quad (\text{Case 2}).$$

Regarding case 1, (9) may be expressed by

$$\begin{aligned} & \sum_{i=1}^{[n/a]} \sum_{j=1}^{\min\{[(n-1)/b], [(n-ia)/b]\}} (n+1-jb-ia) = \\ & = \sum_{i=1}^{[n/a]} \sum_{j=1}^{[(n-ia)/b]} (n+1-jb-ia) = \\ & = \sum_{i=1}^{[n/a]} \left[\frac{n-ia}{b} \right] \left(n+1-ia - \frac{b}{2} \left[\frac{n-ia+b}{b} \right] \right). \end{aligned}$$

In the second case, we have a similar argument; thus we have a pair of formulas for our sum:

$$(10) \quad \begin{aligned} T &= \sum_{i=1}^{[n/a]} \left[\frac{n-ia}{b} \right] \left(n+1-ia - \frac{b}{2} \left[\frac{n-ia+b}{b} \right] \right), \\ T &= \sum_{j=1}^{[(n-1)/b]} \left[\frac{n-jb}{a} \right] \left(n+1-jb - \frac{a}{2} \left[\frac{n-jb+a}{a} \right] \right). \end{aligned}$$

Using (6) and (7) with $a = 3, b = c = 2$, we get

$$(11) \quad \begin{aligned} & \sum_{\substack{0 \leq 3i+j \leq n-2 \\ i, j \geq 0}} \left[\frac{n-3i-j}{2} \right] = \underbrace{\sum_{k=0}^{n-2} \left[\frac{n-k}{2} \right] \left[\frac{k}{3} \right]}_C + \\ & + \underbrace{\left[\frac{n}{2} \right] \left[\frac{n+2}{2} \right] - \left(2 \left[\frac{n}{2} \right] + 1 - n \right) \left[\frac{n}{2} \right]}_D. \end{aligned}$$

With a little manipulation a simpler expression can be found for D :

$$(12) \quad D = \left[\frac{n}{2} \right] \left(\left[\frac{3n}{2} \right] - 2 \left[\frac{n}{2} \right] \right).$$

We may replace the upper bound in C , $n - 2$, by n because the two additional terms are zero. Then applying (10) and simplifying, we obtain the curious sum

$$C = \sum_{i=1}^{[n/3]} \left[\frac{n-3i}{2} \right] \left(n-3i - \left[\frac{n-3i}{2} \right] \right) = - \sum_{i=1}^{[n/3]} \left[\frac{n-3i}{2} \right] \left[\frac{3i-n}{2} \right].$$

Now we use the following property of the greatest integer function: If a and b are positive integers then

$$-\left[-\frac{a}{b}\right] = \begin{cases} \left[\frac{a}{b}\right] & \text{if } a \mid b, \\ \left[\frac{a}{b}\right] + 1 & \text{if } a \nmid b. \end{cases}$$

Then, on considering two cases depending on whether $3i - n$ is even or odd we find

$$\begin{aligned} C &= \sum_{\substack{3i \equiv n \pmod{2} \\ 1 \leq i \leq n/3}} \left[\frac{n-3i}{2}\right]^2 + \sum_{\substack{3i-1 \equiv n \pmod{2} \\ 1 \leq i \leq n/3}} \left[\frac{n-3i}{2}\right] \left(\left[\frac{n-3i}{2}\right] + 1\right) = \\ &= \sum_{\substack{3i \equiv n \pmod{2} \\ 1 \leq i \leq n/3}} \left(\frac{n-3i}{2}\right)^2 + \sum_{\substack{3i-1 \equiv n \pmod{2} \\ 1 \leq i \leq n/3}} \left(\frac{n-3i-1}{2}\right) \left(\left(\frac{n-3i-1}{2}\right) + 1\right). \end{aligned}$$

Using the following four formulas,

$$\begin{aligned} (n \text{ even}) \quad \sum_{\substack{3i-1 \equiv n \pmod{2} \\ 1 \leq i \leq m}} f(i) &= \sum_{i=1}^{\lfloor (m+1)/2 \rfloor} f(2i-1); \quad \sum_{\substack{3i \equiv n \pmod{2} \\ 1 \leq i \leq m}} f(2i) = \sum_{i=1}^{\lfloor m/2 \rfloor} f(2i), \\ (n \text{ odd}) \quad \sum_{\substack{3i-1 \equiv n \pmod{2} \\ 1 \leq i \leq m}} f(i) &= \sum_{i=1}^{\lfloor m/2 \rfloor} f(2i); \quad \sum_{\substack{3i \equiv n \pmod{2} \\ 1 \leq i \leq m}} f(i) = \sum_{i=1}^{\lfloor (n+1)/2 \rfloor} f(2i-1), \end{aligned}$$

and applying some elementary summation methods we arrive at an evaluation of C .

We shall leave out these remaining details but the result is as follows:

If we substitute (12) into (11) and define

$$A = \left[\frac{1}{2} \left[\frac{n}{3} \right] \right], \quad B = \left[\frac{1}{2} \left[\frac{n+3}{3} \right] \right],$$

$$\begin{aligned} X &= \frac{1}{4}n^2A - \frac{3}{2}nA(A+1) + \frac{3}{2}A(A+1)(2A+1) + \\ &+ \frac{1}{4}(n+2)(n+4)B - \frac{3}{2}(n+3)B(B+1) + \frac{3}{2}B(B+1)(2B+1), \end{aligned}$$

$$\begin{aligned} Y &= \frac{1}{4}(n+3)^2B - \frac{3}{2}(n+3)B(B+1) + \frac{3}{2}B(B+1)(2B+1) + \\ &+ \frac{1}{4}(n+1)(n-1)A - \frac{3}{2}nA(A+1) + \frac{3}{2}A(A+1)(2A+1), \end{aligned}$$

then

$$\begin{aligned} p(2n+1, 4) &= \sum_{\substack{i \geq 0, j \geq 0 \\ 0 \leq 3i+j \leq n-2}} \left[\frac{n-3i-j}{2} \right] = \\ (13) \quad &= \left[\frac{n}{2} \right] \left(\left[\frac{3n}{2} \right] - 2 \left[\frac{n}{2} \right] \right) - \sum_{i=1}^{\lfloor n/3 \rfloor} \left[\frac{n-3i}{2} \right] \left[\frac{3i-n}{2} \right] \end{aligned}$$

$$(14) \quad = \left[\frac{n}{2} \right] \left(\left[\frac{3n}{2} \right] - 2 \left[\frac{n}{2} \right] \right) + \begin{cases} X & \text{if } n \text{ is even,} \\ Y & \text{if } n \text{ is odd.} \end{cases}$$

Formula (14) is not as formidable as its appearance may suggest; it is particularly applicable for large values of n while the more elegant formula (13) is suitable for smaller values of n , say $n \leq 30$. Note the close relation between X and Y . Also observe that

$$B = A + \begin{cases} 0 & \text{if } \lfloor n/3 \rfloor \text{ is even,} \\ 1 & \text{if } \lfloor n/3 \rfloor \text{ is odd.} \end{cases}$$

References

- [1] *Bučko, Michal*: Eine Benutzung der Zahlenzerlegung zur Bestimmung der Anzahl Unisompher Zyklen in ξ -Turnieren, *Časopis Pěst. Mat.*, 97 (1972), 225–230.
- [2] *Cesàro, E.*: Questions proposées par M. E. Cesàro, *Nouv. Ann. Math.*, (3) 4 (1885), 556–565.
- [3] *Grimson, R. C.*: The Evaluation of a Sum of Jacobsthal, *K. norske Videnks. Selsk. Skr.*, 4 (1974), 1–6.
- [4] *Lipschitz, N.*: Sur les Series Relatives à la Theorie des Nombres. *C. R.*, 89 (1879), 945–950.

Author's address: Biostatistics Department, School of Public Health, University of North Carolina, Chapel Hill, N.C. 27514, U.S.A.